Shipping Emissions Calculator
Carbonfund.org’s shipping calculator utilizes three user generated inputs to determine a unit called a ‘ton-mile’ (e.g. a ton of freight traveling 1 mile, or a half ton of freight traveling two miles, or 1/1000th of a ton traveling 1,000 miles… you get the point): 

· (A) Total number of shipments

· (B) Average Weight of Shipment (lbs)

· (C) Average Shipping Distance (mi)

From this information we determine the shipment(s) ‘ton-miles’. So if you have 50 shipments (A) of 100 lbs (B) each traveling an average distance of 500 miles(C), you multiply A*B*C, 50*100*500 to get 2,500,000 lbs-miles – to get to ton-miles, divide by 2204 to get 1,134.3 ton-miles. Once you have that figure, multiply it by the appropriate emissions factor depending on how you are shipping the package. So 1134.3 ton-miles being shipped by truck (0.3725 lbs CO2 per ton-mile) gives you a total emission of 422.52 lbs CO2. Shipping Emissions Factors: 

· Air cargo - 1.7739 lbs CO2 per Ton-Mile

· Truck - 0.3725 lbs CO2 per Ton-Mile

· Train - 0.2306 lbs CO2 per Ton-Mile

· Sea freight - 0.0887 lbs CO2 per Ton-Mile

· Zeppelin - 0.1951 lbs CO2 per Ton-Mile

(Source: Timeforchange.org who in turn sourced from http://fluglaerm.de/hamburg/klima.htm).
Problem:

Using the formula above, determine the CO2 emission from this shipment:

15 shipments, 1000 tons, moved 6000 miles by sea freight, air cargo, truck and train.  
Which form of transportation has the smallest carbon footprint?

Which form of transportation leaves the largest carbon footprint?
Resource:  Emissions from Maritime Shipping - http://www.internationaltransportforum.org/jtrc/environment/GHG/07Corbett.pdf
